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ALGEBRAIC EXPRESSIONS AND POLYNOMIALS

Work Examples

1. Add 3x and 15 x.

° View Text Solution

2. Add 4xy, 6xy, and 9xy.

° View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aAoQAzMT0iJG
https://dl.doubtnut.com/l/_Vcr6TdHgz7WW

3.Add 3z + 6y and 4z + 5y.

° View Text Solution

4.Add 422 + 4z + 12 and 222 — 5z — 18.

° View Text Solution

5.Subtract 2a + b from 4a + 3b.

° View Text Solution

6.Subtract 822 — 4z + 3 from 922 + 2z + 9.

° View Text Solution

7.Subtract 2%y + 3z%y? — 4zy? from 222y — 2%y?

— 3xy”.



https://dl.doubtnut.com/l/_7cmQ8Ofe7AiW
https://dl.doubtnut.com/l/_ONibnbkwv6yF
https://dl.doubtnut.com/l/_zSiwOzdJJ53G
https://dl.doubtnut.com/l/_mG8qTpGeIe5p
https://dl.doubtnut.com/l/_I969QyNUY4MI

° View Text Solution

8. Subtract the second expresson from

4m? — 6m + 12, 8m? — 3m — 9.

the

first

° View Text Solution

9. Simplify the

3z — (z — b)

° View Text Solution

10. Simplify the

dy—(—6—-2)

° View Text Solution



https://dl.doubtnut.com/l/_I969QyNUY4MI
https://dl.doubtnut.com/l/_AoVoLMoA38zv
https://dl.doubtnut.com/l/_3qLrDRgrGoMD
https://dl.doubtnut.com/l/_QuPbyK1Q3TWz

1. Simplify the

p—(2p+2)

° View Text Solution

12. Simplify the

(a +2b) — (3b+ 2¢) + (2¢ — a)

° View Text Solution

13. Simplify the

(c+2d) — (2¢ —d) — (c+ 3d)

° View Text Solution

14. Simplify the

(—4)( - 32%)



https://dl.doubtnut.com/l/_bRuZEJgIUsO5
https://dl.doubtnut.com/l/_L7BUjG8xHVs0
https://dl.doubtnut.com/l/_2C9Ts7pv2RpP
https://dl.doubtnut.com/l/_MwyglTM1m3K8

| & View Text Solution

15. Simplify the

( — 2a2)( — 3a2b)

o View Text Solution

16. Simplify the

(12%) (- 32%7)

o View Text Solution

17. Simplify the

(szy) ( — 4a:y3)

o View Text Solution



https://dl.doubtnut.com/l/_MwyglTM1m3K8
https://dl.doubtnut.com/l/_OQAELaHD0mJe
https://dl.doubtnut.com/l/_PaKmPsLbLLAZ
https://dl.doubtnut.com/l/_e1FqoBIE4tNy

18. (3z%y) ( — 4zy?®) ( — 52°y°%)

o View Text Solution

19. Simplify the using the distibutive law.

2a(3a + b)

o View Text Solution

20. Simplify the using the distibutive law.

—3a(2a + 5b)

o View Text Solution

21. Simplify the using the distibutive law.

—4z(3y — 2zy)

o View Text Solution



https://dl.doubtnut.com/l/_F3laAklLujL2
https://dl.doubtnut.com/l/_9Ziwm9Z2ZOkb
https://dl.doubtnut.com/l/_zOkaoUKmSrFa
https://dl.doubtnut.com/l/_6iNIe2DN167O

22. Simplify the using the distibutive law.

4m2y(m2 — 2y2)

° View Text Solution

23. Simplify the using the distibutive law.

—3a,b(a,2 + ab — b2)

° View Text Solution

24. Simplify the using the distibutive law.

— ba2y? (33:3 — dz?y? — 2y3)

° View Text Solution



https://dl.doubtnut.com/l/_6iNIe2DN167O
https://dl.doubtnut.com/l/_88VvWQb23nWo
https://dl.doubtnut.com/l/_kAMU13RFkQOX
https://dl.doubtnut.com/l/_oxUzLn8m3q8h

25. Simplify the

(3z + by)(z — 2y)

° View Text Solution

26. Simplify the

5p — (3 —2p) + 8

° View Text Solution

27.Simplify the

3z — 3[2(z — 2y) + 5z] + 8

° View Text Solution

28. Simplify the

a—[3(a+1) —2(a—4)] —6a+2



https://dl.doubtnut.com/l/_Mu3mlSTGt4e8
https://dl.doubtnut.com/l/_626PUPPocj6K
https://dl.doubtnut.com/l/_IYdcXHVkr5Ge
https://dl.doubtnut.com/l/_xi7T0B1wWwzN

| & View Text Solution

29. Simplify the

o View Text Solution

30. Simplify the

45a3b2
15a2b4

o View Text Solution

31. Simplify the

36 a2
12 a3b2

o View Text Solution



https://dl.doubtnut.com/l/_xi7T0B1wWwzN
https://dl.doubtnut.com/l/_lDUk1LO7niSi
https://dl.doubtnut.com/l/_Jk5lGtCJ7IYS
https://dl.doubtnut.com/l/_QDnYnj98GSPq

32. Simplify the

45224
1825y

° View Text Solution

11f 922 + 622 — 522 + ax + bis a perfect square, then find the values of

a and b and find the square root.

° View Text Solution

Worked Examples

1. Divide 222 + 5z + 3by2x + 3.

° View Text Solution



https://dl.doubtnut.com/l/_uNsXJ2LDU2pe
https://dl.doubtnut.com/l/_o3IknJRRFFae
https://dl.doubtnut.com/l/_gJ4Jgvj0baMg
https://dl.doubtnut.com/l/_5ZxsllO2SERa

2.Divide 5z% — 1222 — 325byx — 5.

o View Text Solution

3. Divide z* — y*byz? — 9.

o View Text Solution

4.Divide (:133 — 18) byx — 2.

o View Text Solution

5. Find the cube of 3p + 4q.

o View Text Solution



https://dl.doubtnut.com/l/_5ZxsllO2SERa
https://dl.doubtnut.com/l/_uIzASHpKgWhh
https://dl.doubtnut.com/l/_cyfBsENz4JZf
https://dl.doubtnut.com/l/_zb5HvbGxVevZ

6. Simplify the fillowing

(22 — 3y)® + (z + 3y)® + 2(2z — 3y)*(z + 3y) + 3(2z — 3y)(z + 3y)*

o View Text Solution

7.Find the value of 3 + 18z + 108z + 341, whenz = — 11.

o View Text Solution

8. Find the cube of 3z — 4y.

o View Text Solution

9. Find the value of

8a® — 27b% — 90ab, if 2a — 3b = 5.

o View Text Solution



https://dl.doubtnut.com/l/_HD31x6MJU3fS
https://dl.doubtnut.com/l/_E5rGx8h1rdSe
https://dl.doubtnut.com/l/_aCS4nAYgW72W
https://dl.doubtnut.com/l/_4fl5tkM4amTR
https://dl.doubtnut.com/l/_nH60I2Kg35zF

10. Find the common factor to both the terms of the expression

8z + 12y.

° View Text Solution

11. Find the comon factor in the expreson

z? + Ty.

° View Text Solution

12. Factorise 8z + 8y.

° View Text Solution

13. Factorise 1822 — 6zy.

° View Text Solution



https://dl.doubtnut.com/l/_nH60I2Kg35zF
https://dl.doubtnut.com/l/_23JIdsga8KlP
https://dl.doubtnut.com/l/_dPGRRUlWZw45
https://dl.doubtnut.com/l/_I3X9Vp7b46R9
https://dl.doubtnut.com/l/_i5Ske7NcVMdZ

14. Factorise 4z(a — b) + by(a — b).

° View Text Solution

15. Factorise 6z(z + 2y) + (z + 2y).

common to both the terms ?

Which is the largest factor

° View Text Solution

16. 22 + 10z + 21

° View Text Solution

17.2%2 + 11z + 28

° View Text Solution



https://dl.doubtnut.com/l/_i5Ske7NcVMdZ
https://dl.doubtnut.com/l/_EHuORNUsjwvI
https://dl.doubtnut.com/l/_fouIurjZS0LO
https://dl.doubtnut.com/l/_lxu5aTJ6C3hc

18.22 + 15z + 36

o View Text Solution

19.4% — 15a + 50

o View Text Solution

20.a% — 16a + 60

o View Text Solution

21.a% + 2a — 63

o View Text Solution

22.a% + 16a + 39


https://dl.doubtnut.com/l/_AhdTxipdx40d
https://dl.doubtnut.com/l/_RF2C3TTQUQZr
https://dl.doubtnut.com/l/_qbNznai17DNJ
https://dl.doubtnut.com/l/_6pPmf7t9l22c
https://dl.doubtnut.com/l/_Uv4QFCLZgtdX

o View Text Solution

23.d% + 3d — 88

o View Text Solution

24. Factorise:

d> —d — 90

o Watch Video Solution

25.d% +19d + 78

o View Text Solution

26. Factors of 222 + 7x + 3 are

o Watch Video Solution



https://dl.doubtnut.com/l/_Uv4QFCLZgtdX
https://dl.doubtnut.com/l/_yFNl0HzOlxGE
https://dl.doubtnut.com/l/_kgeXGm6UzOrV
https://dl.doubtnut.com/l/_eJt7hZLPY5yN
https://dl.doubtnut.com/l/_ic8HqhXoS9f0

27.62% + Tz + 2

o View Text Solution

28.8z2% + 34z + 21

o View Text Solution

29. 212 + 3lzy + 4y°

o View Text Solution

30.16a> + 14ab + 3b°

o View Text Solution



https://dl.doubtnut.com/l/_ic8HqhXoS9f0
https://dl.doubtnut.com/l/_c1lqHvHsZlTW
https://dl.doubtnut.com/l/_sv9psAw0VvPJ
https://dl.doubtnut.com/l/_X19kUbxwTDBd
https://dl.doubtnut.com/l/_S9jfZVOGeKj3

31.32% + 1lzy + 6y2

o View Text Solution

32.22%2 — 52 + 3

o View Text Solution

33.622 — Tz + 2

o View Text Solution

34,822 — 34z + 21

o View Text Solution

35.16a% — 14ab + 3b°


https://dl.doubtnut.com/l/_ZGgJ0z0HFZvp
https://dl.doubtnut.com/l/_M3IiNQLB0zyG
https://dl.doubtnut.com/l/_cw8iQsvHN1V7
https://dl.doubtnut.com/l/_TVN2oxJfEMaX
https://dl.doubtnut.com/l/_d2j84XhNVYgs

o View Text Solution

36.3z% — 11zy + 63>

o View Text Solution

37.6x% — Tz — 24

o View Text Solution

38.5a + Tab — 6b°

o View Text Solution

39.2y° + 10y> — 48y

o View Text Solution



https://dl.doubtnut.com/l/_d2j84XhNVYgs
https://dl.doubtnut.com/l/_m9YEqbhdJyL4
https://dl.doubtnut.com/l/_R6ja4S7t68gP
https://dl.doubtnut.com/l/_EroULsokxz1L
https://dl.doubtnut.com/l/_JEZEOTxt3WpY
https://dl.doubtnut.com/l/_fzNHQe4rijE3

40.3z° + 923 — 162z

° View Text Solution

41.24y3 — 14ay® — 24zu’

° View Text Solution

42.0*(z +9y) + 3a(z +y) — 10(z + y)

° View Text Solution

43.5a° — 5022 + 125z

° View Text Solution

44.18¢° — 32° — 3z


https://dl.doubtnut.com/l/_fzNHQe4rijE3
https://dl.doubtnut.com/l/_YsX7Rv7LFLWo
https://dl.doubtnut.com/l/_hzcor2tzCuBl
https://dl.doubtnut.com/l/_6jRmq3FLL8bW
https://dl.doubtnut.com/l/_ndx565h5zqS8

o View Text Solution

45.2a%0 — 4ab® — T0b°

o View Text Solution

46.35z%y* — 3222y® + 5y’

o View Text Solution

47.2% — (a — 2)°

o View Text Solution

48.(2a — b)® — 4¢?

o View Text Solution



https://dl.doubtnut.com/l/_ndx565h5zqS8
https://dl.doubtnut.com/l/_INAtJjmXN7uT
https://dl.doubtnut.com/l/_OqmTEXAnVsJY
https://dl.doubtnut.com/l/_JHgEogBhfEx1
https://dl.doubtnut.com/l/_rmYPqYYzr3Cd
https://dl.doubtnut.com/l/_bxyn3NJbKOPA

49.81 — (z — 3y)*

o View Text Solution

50.a* — b*

o View Text Solution

51.2a° — 32a

o View Text Solution

52.q0° — a®

o View Text Solution

53.ay(a + y)° — a’y®


https://dl.doubtnut.com/l/_bxyn3NJbKOPA
https://dl.doubtnut.com/l/_v0fVOYOaXZQ5
https://dl.doubtnut.com/l/_BsioXElEEZws
https://dl.doubtnut.com/l/_gGtV5AIRC3dU
https://dl.doubtnut.com/l/_KDT708q772Cz

o View Text Solution

54.2x° — 62° — 8z

o View Text Solution

55.a° + 1

o View Text Solution

56.z° + 8

o View Text Solution

57.8z% — 27

o View Text Solution



https://dl.doubtnut.com/l/_KDT708q772Cz
https://dl.doubtnut.com/l/_HhHrN5UtLMTY
https://dl.doubtnut.com/l/_0cpD04EjqDsx
https://dl.doubtnut.com/l/_HshQauv6jVLj
https://dl.doubtnut.com/l/_B6qoCFkBH4pU
https://dl.doubtnut.com/l/_Ye2ycUmaBJtg

58.a°b% + 27

° View Text Solution

59. (a + 2b)* — (2a — b)®

° View Text Solution

60. Find the HCF of zly — zy?, 2*y?, zy? (xﬁ — yﬁ)

° View Text Solution

61. Find the LCM of a? — b, 3a® — 3ab.

° View Text Solution

62.Find the LCMof 22 — 22 — 3, 2° — 32> — 2 + 3, and z®> — 62 + 9


https://dl.doubtnut.com/l/_Ye2ycUmaBJtg
https://dl.doubtnut.com/l/_nKvDe45I35GC
https://dl.doubtnut.com/l/_xUg8ZVyuP2Zh
https://dl.doubtnut.com/l/_EEbZHKbXI2zo
https://dl.doubtnut.com/l/_vehChlLhFq3T

° View Text Solution

63. Find the LCM

6a(a3 — b3), 9(0,3 — ab2), 2(a3 + 2ab® — 2ab%b — b3),

of

° View Text Solution

64.m* + 9m?>n? + 81n*

° View Text Solution

65.64a* + 1

° View Text Solution

66.a* + b* + ¢t — 2(0,262 + b2+ c2a2)

° View Text Solution



https://dl.doubtnut.com/l/_vehChlLhFq3T
https://dl.doubtnut.com/l/_dzKPvRqcwGAF
https://dl.doubtnut.com/l/_krLQX7PYqiyw
https://dl.doubtnut.com/l/_SZ6rwalxXgWA
https://dl.doubtnut.com/l/_ZzLnDJftuRJm

67.p* + 4p> + 16

o View Text Solution

68. " + 8x2y? + 144y*

o View Text Solution

69. 81p* + 644>

o View Text Solution

70.4a* + 3a%b® + 9v*

o View Text Solution



https://dl.doubtnut.com/l/_ZzLnDJftuRJm
https://dl.doubtnut.com/l/_ITDjf4EUGvUi
https://dl.doubtnut.com/l/_IPFzbIUzLfow
https://dl.doubtnut.com/l/_QRpPr7VbsaFd
https://dl.doubtnut.com/l/_cXDdvBxcYUVD

71.3z% + 12¢4

o View Text Solution

72.28 + z* +1

o View Text Solution

73.42% + 1

o View Text Solution

74.0° + b° — & + 3abe

o View Text Solution

75.8a% — 276° — ¢ — 18abe


https://dl.doubtnut.com/l/_dm37ZBbmVqMm
https://dl.doubtnut.com/l/_loEqXNqBkqk5
https://dl.doubtnut.com/l/_0y7yXvPEIHDs
https://dl.doubtnut.com/l/_xcKyBXVtks3z
https://dl.doubtnut.com/l/_F9KiNaUV8PzU

° View Text Solution

76.8p3 —1-—m?—6m

° View Text Solution

77.Find the remainder when 2z% + 8z — 10 is divided by x -2 .

° View Text Solution

78.Find the remainder when z* — 4z? + 5z — 1is divided by 2z + 1.

° View Text Solution

79.Find whethr z — 2is a factor of 2% — 4x% + 1.

° View Text Solution



https://dl.doubtnut.com/l/_F9KiNaUV8PzU
https://dl.doubtnut.com/l/_ny5YabrzLlk0
https://dl.doubtnut.com/l/_LS9MLbOLNS8N
https://dl.doubtnut.com/l/_EQsGLn8MKoTc
https://dl.doubtnut.com/l/_HgcjIsWol1qP
https://dl.doubtnut.com/l/_4bHFi1CRoBCw

80. Verify that  — 3 is a factor of > — 2z — 3 Find the other factor .

° View Text Solution

Test Yourself Level 1

1. Write 68 in completely factorised from.

° View Text Solution

2. Write 9122y in completely factorised form.

° View Text Solution

3. Write the in the exponential form.

2X2X2X2%x2x2x2

° View Text Solution



https://dl.doubtnut.com/l/_4bHFi1CRoBCw
https://dl.doubtnut.com/l/_sf70QBFWdXkO
https://dl.doubtnut.com/l/_px3dLACalDqu
https://dl.doubtnut.com/l/_c2sadKAVEerk

4. Write the in the exponential form.

—HXHXHXHXDH

° View Text Solution

5. Write the in the exponential form.

17ppppgqqrr

° View Text Solution

6. Write the in the exponential form.

29sssbtttuuu

° View Text Solution



https://dl.doubtnut.com/l/_c2sadKAVEerk
https://dl.doubtnut.com/l/_YygpvHaGVIPt
https://dl.doubtnut.com/l/_m0atQcTGLu2l
https://dl.doubtnut.com/l/_4B74Yfai3QBU

7. Write the in the exponential form.

ATx X T X T X YXYXyx 2 X z2X 2

° View Text Solution

8. Given the number of trms in ech of the expressions.

8 T 7
____|__
a y c

o View Text Solution

9. Given the number of trms in ech of the expressions.

—4m? — Tm?n — In’m + 12n?

o View Text Solution

10. Given the number of trms in ech of the expressions.

p
= -

q



https://dl.doubtnut.com/l/_HiN4s6hd8rix
https://dl.doubtnut.com/l/_9KRTnvyhUexs
https://dl.doubtnut.com/l/_u5pKhaqZG8Zf
https://dl.doubtnut.com/l/_5ySMTVSx3JMX

| @ View Text Solution

11. Given the number of trms in ech of the expressions.

—10242y%2°

o View Text Solution

12. Given the number of trms in ech of the expressions.

4ppprtuyv

o View Text Solution

13. Add 08z, 6zy, — 3zy, 9zy.

o View Text Solution

14. Subtract 6a — ab + 3b from 7a + 3ab + 2b.

e


https://dl.doubtnut.com/l/_5ySMTVSx3JMX
https://dl.doubtnut.com/l/_ui0Iox6gG5xt
https://dl.doubtnut.com/l/_8gu5rmL2imtN
https://dl.doubtnut.com/l/_vInRtt9AQejA
https://dl.doubtnut.com/l/_ORTZbPI35w4A

| ¥ View lext Solution

15. Subtract —27m — 50n — 60p from —20m — 40n — 50p.

o View Text Solution

16. Add 20a2bc — 14abe, — 12abe + 12abe + 14c, 18abe — 12¢ + 10.

o View Text Solution

17. Multiply (4 + 3)(2z + 5)

o View Text Solution

18. Multiply (z — y) ($2 + xy + y2).

o View Text Solution



https://dl.doubtnut.com/l/_ORTZbPI35w4A
https://dl.doubtnut.com/l/_5HKzHkKGIg1x
https://dl.doubtnut.com/l/_sngA6p4wZcqC
https://dl.doubtnut.com/l/_oNh4ny8KxvSd
https://dl.doubtnut.com/l/_8v0lrYPReeSa
https://dl.doubtnut.com/l/_bxwNlBBxR97L

19. Simplify (2a) (4a2 — 5a).

o View Text Solution

20. Simplify (p2 — pq+ 2q2) (2pq).

o View Text Solution

3
21. Simplify Exy(4w2y — 6xy® — Swzyz)

o View Text Solution

22. Simplify —7wy2z(ar:yz — wzyz = myzz).

o View Text Solution

23. Divide 45 — 18mby9.

e


https://dl.doubtnut.com/l/_bxwNlBBxR97L
https://dl.doubtnut.com/l/_u0WnDStqgcnO
https://dl.doubtnut.com/l/_Of72UaUEG5kV
https://dl.doubtnut.com/l/_UZWUtPLQZQn4
https://dl.doubtnut.com/l/_dqop3Hnyp7g3

| ¥ View lext Solution

24.Divide x — 2y by y,wherey € 0.

o View Text Solution

25. Expand (3z — 1)°.

o View Text Solution

1 2
26. Expand (5y — E)

o View Text Solution

2

2 2
27. Expand (m_ — y_) .
Y x

o View Text Solution



https://dl.doubtnut.com/l/_dqop3Hnyp7g3
https://dl.doubtnut.com/l/_75RWXrX9R3NN
https://dl.doubtnut.com/l/_K5CxapVlcmdW
https://dl.doubtnut.com/l/_ouQ5gXYhx3g8
https://dl.doubtnut.com/l/_3zHBj7EA1wF5
https://dl.doubtnut.com/l/_QH6rRSm62pfw

1
28. Find cube of (a) (a +3) and (b ) (xy + —)
Ty

° View Text Solution

29. Simplify

(3a + 4b)® + ( — 3a — 2b)° + 3(3a + 4b)” — ( — 3a — 2b) + 3(3a + 4b)( —

° View Text Solution

1 1
30.If £ + — = a, find the value of z* + —
x x

° View Text Solution

31.1fa + b= 6 and ab = 8, find the value of a® + b2,

° View Text Solution



https://dl.doubtnut.com/l/_QH6rRSm62pfw
https://dl.doubtnut.com/l/_kqCSxaEU4ZmU
https://dl.doubtnut.com/l/_LxH46EV8BnVB
https://dl.doubtnut.com/l/_A3JAQTpk0IXZ

32. Factorise the

be + bc?

° View Text Solution

33. Factorise the

20m’n = 25m?>

° View Text Solution

34. Factorise the

z®(zy + 5) — 2y*(zy + 5)

° View Text Solution

35. Factorise the

(z+2y—3)(x+2)+(z+2y—3)(3y+ 1)



https://dl.doubtnut.com/l/_EpHYVm48KQya
https://dl.doubtnut.com/l/_Obd61swa9hVl
https://dl.doubtnut.com/l/_rNjZQSodJUr9
https://dl.doubtnut.com/l/_VVRbq74yAUoP

| & View Text Solution

36. Factorise the

P+ +8)p+7+ P +d+8)(¢—7)

o View Text Solution

37. Factorise the

4zt + 81y*

o View Text Solution

38. Factorise the

zt — 232 +1

o View Text Solution



https://dl.doubtnut.com/l/_VVRbq74yAUoP
https://dl.doubtnut.com/l/_YjSoOXJw0kOp
https://dl.doubtnut.com/l/_YcWIQaxSUgxo
https://dl.doubtnut.com/l/_Pe8O1v6nsGoT

39. Examine whether the can be factorised. If so, factorise them.

322 + 8z + 4

° View Text Solution

40. Examine whether the can be factorised. If so, factorise them.

1822 + 38z + 4

° View Text Solution

41. Examine whether the can be factorised. If so, factorise them.

30p° + 85pq + 35¢°

° View Text Solution

42. Examine whether the can be factorised. If so, factorise them.

What is the remainder when 422 — 7z + 2is divided by z — 4 ?

| e


https://dl.doubtnut.com/l/_Vg72OZ5yNpqF
https://dl.doubtnut.com/l/_pSVUaYTcO9xD
https://dl.doubtnut.com/l/_x09AyljeUICi
https://dl.doubtnut.com/l/_10foH36ssp1A

| & View Text Solution

43. Examine whether the can be factorised. If so, factorise them.

What is the remainder when 422 — 3z + 5z — 3 is divided by 2z + 1?

° View Text Solution

44. Examine whether the can be factorised. If so, factorise them.

Isz — 4afactorofz® — 222 + 32 + 17

° View Text Solution

Test Yourself Level 2

1.Find the square root of z* — 623 + 122% — 12z + 4.

° View Text Solution



https://dl.doubtnut.com/l/_10foH36ssp1A
https://dl.doubtnut.com/l/_DNuFX7EKiQIJ
https://dl.doubtnut.com/l/_Zz576D69cpii
https://dl.doubtnut.com/l/_IwoH6YjlvRT6
https://dl.doubtnut.com/l/_7nBvRNXyWuPP

2.Find the square root of 16a* — 24a® — 7a® + 12a + 4.

° View Text Solution

3. Find the square root of 42® — 12z* + 2023 + 922 — 30z + 25.

° View Text Solution

4. Find the square root of 25z% — 60z° + 36z + 7023 — 842% + 49

using undetermined coefficient and identities.

° View Text Solution

5. Find the square root of 36 — 12m — 59m? + 10m® + 25m* using

undertrmined coefficient and identities.

° View Text Solution



https://dl.doubtnut.com/l/_7nBvRNXyWuPP
https://dl.doubtnut.com/l/_hpMB38lcRLof
https://dl.doubtnut.com/l/_4f7LqakJfQAm
https://dl.doubtnut.com/l/_1JodpF71a3ar
https://dl.doubtnut.com/l/_10h3YAfz9X5K

6. Factorise by grouping.

2a + 4b — ac — 2bc

° View Text Solution

7. Factorise by grouping.

22+ 20z +a(2) —z —a

° View Text Solution

8. Factorise by grouping.

25 — y2 — 922 + 6yz

° View Text Solution

9. Factorise by grouping.

al —bl +bm +cm —cl — am

° View Text Solution



https://dl.doubtnut.com/l/_10h3YAfz9X5K
https://dl.doubtnut.com/l/_g5plgElNknEK
https://dl.doubtnut.com/l/_4LAs0NSV6YKz
https://dl.doubtnut.com/l/_cAJqNaSKvy9H

10. Resolve into factors.

27a® — b + ¢ + 9abe.

° View Text Solution

11. Resolve into factors.

(5a — 4b) + (4b — 3¢)® — (5a — 3¢)>.

° View Text Solution

12. Find the HCF of the

9a2v?, 6a2b>

° View Text Solution



https://dl.doubtnut.com/l/_cAJqNaSKvy9H
https://dl.doubtnut.com/l/_UJVTzW9uHPRi
https://dl.doubtnut.com/l/_EfXxnoLDxWdD
https://dl.doubtnut.com/l/_Z8Kw06uCUraa

13. Find the HCF of the

17pa3y4z, 34rzz?, S51prayz

° View Text Solution

14. Find the HCF of the

6ra2w2y4z, 157’3:1:y3z4, 36ab2w4y3, 12zyz

° View Text Solution

15. Find the HCF of the

9z% — 1,92% 4+ 62 + 1

° View Text Solution

16. Find the HCF of the

zb — a6, zt + a%2? + ot



https://dl.doubtnut.com/l/_7VO8QzXY93M2
https://dl.doubtnut.com/l/_TtsO1ONRMN0L
https://dl.doubtnut.com/l/_6wEZuvDHtnpq
https://dl.doubtnut.com/l/_xrUK0ymaA7lk

| & View Text Solution

17. Find the HCF of the

zb — a6, zt + a%2? + ot

° View Text Solution

18. Write the LCM of the

az?, bz®

° View Text Solution

19. Write the LCM of the

19a%b%¢, 51abc®, 38a*b?

° View Text Solution



https://dl.doubtnut.com/l/_xrUK0ymaA7lk
https://dl.doubtnut.com/l/_UqgVujJvszCe
https://dl.doubtnut.com/l/_7VD72QBfBJFs
https://dl.doubtnut.com/l/_mkOJBXr6R5qz

20. Write the LCM of the
If the remainder obtained on dividing > — 5z + k by  — 2is 3, what is

the value of k ?

° View Text Solution

21. Write the LCM of the

If 2x + 3 is a factor of 82> — 4z + 6z — k, what shuld be the value of k ?

° View Text Solution

22. Write the LCM of the
If 23 + az® + bz + 6 has x -2 as a factor and leaves remainder 3 when

divided by x - 3, find the values of a and b.

° View Text Solution

Test Yourself Level 3



https://dl.doubtnut.com/l/_AzwXbAVnymQV
https://dl.doubtnut.com/l/_OhIWpVHBW0s9
https://dl.doubtnut.com/l/_jPeptGoUoyXB

1. Divide z* — 522 + 6byx® — 2.

° View Text Solution

2.Divide z* — 42 — 122 + 1022 + 9byx? — 2z + 3.

° View Text Solution

3. Find the values of a and b if z* — 42> + 6z? + az + b is a perfect

square.

° View Text Solution

4.Find the values of a and b if 9z* — 3023 — 2922 + az + b is a perfect

square.

° View Text Solution



https://dl.doubtnut.com/l/_V9b61tgUf0rE
https://dl.doubtnut.com/l/_Zy6xRIYyQXnx
https://dl.doubtnut.com/l/_tmwpKIdC0Y4V
https://dl.doubtnut.com/l/_unkF7CrwdCxl

5. Find p, q and r if 2% — 8z° 4+ 10z* — 2023 + pz® + gz + s is a

perfect square.

° View Text Solution

6. Find p, q and r if % — 825 + 10z* + 282% + pz® + gz + rs is a

perfect square.

° View Text Solution

7.0f (122 + ma +n)” = 92* — 362° + 9x® — 144z + 144, find I m , and

n.

° View Text Solution

8.1f (az® + bz + c)’ = 42° — 242° + 722 + dz + e, find abcd, and e



https://dl.doubtnut.com/l/_N1jms11CAJe8
https://dl.doubtnut.com/l/_TxsKtyX6UVFy
https://dl.doubtnut.com/l/_GmWuiMEdHlQY
https://dl.doubtnut.com/l/_uFmkg6SWZBbY

| & View Text Solution I

9. For what values of a, b the expression 9z + az® + bz® — 56x + 49

will be a perfect square ?

o View Text Solution

10. 16y + 19y* — 6y

o View Text Solution

1. 6a%b — 12ab — 210b

o View Text Solution

12. 24a:y3 + 14.7Uy2 — 24zy

o View Text Solution



https://dl.doubtnut.com/l/_uFmkg6SWZBbY
https://dl.doubtnut.com/l/_ESTr3D2X5HAA
https://dl.doubtnut.com/l/_gaxLEnVFE2oh
https://dl.doubtnut.com/l/_VscEqswwfVGu
https://dl.doubtnut.com/l/_xicCYGhdkWiA

13.5a° — 5a*b + 10a%b? — 10a%b®

o View Text Solution

14. 322 (2:32 — bx — 7) + 6y° (2:1:2 — bx —

)

o View Text Solution

1
15.2a — —
4a?

o View Text Solution

16. 2% — af

o View Text Solution



https://dl.doubtnut.com/l/_xicCYGhdkWiA
https://dl.doubtnut.com/l/_c8CAyrYQIlMA
https://dl.doubtnut.com/l/_iHjjzMMnEjcn
https://dl.doubtnut.com/l/_iBsilLFYHSIh
https://dl.doubtnut.com/l/_7avxHvm3yil7

17. 2% — 2722

° View Text Solution

8
18.92% — —
8.9x 37

° View Text Solution

19.322% — 4d3

° View Text Solution

20.Find the value of z* + 18z + 108z + 314, whenz = — 6.

° View Text Solution

21.Ifz +y = 7 and zy = 10, find the value of z* + y°.


https://dl.doubtnut.com/l/_9hVwaB30k7ru
https://dl.doubtnut.com/l/_M1IxBxX4uIf7
https://dl.doubtnut.com/l/_CLTTxJ0DImlW
https://dl.doubtnut.com/l/_9NYzKXfoPqxW
https://dl.doubtnut.com/l/_HaagJiSUgyIU

° View Text Solution

22.Find the value of 2* — y® ifz — y = 5, zy = 14.

° View Text Solution

23.Find all the factor of 3z® — 722 — 2z + 8.

° View Text Solution

24. Factorise z* — 192 — 30 by finding a factor by inspection

° View Text Solution

25.If z + 2 is a factor of the expression (z + 1)® + (2z + k)°, then

what is the value of k ?

° View Text Solution



https://dl.doubtnut.com/l/_HaagJiSUgyIU
https://dl.doubtnut.com/l/_1CImVZJTr2k3
https://dl.doubtnut.com/l/_jqYjukUjn7gg
https://dl.doubtnut.com/l/_xHbFHSvGeBBv
https://dl.doubtnut.com/l/_ZxELnHDZzPQG

26. 22 — 1 is a factor of x> + az® — z + b. When the expression is
divided by x -2, what is the remainder obtained ? Calculate the values of a

and b.

° View Text Solution

Test Yourself Level 3 Multiple Choice Questions

1 1
1.Ifz — — = 2then thevalue of 22 + — is
T 22

A2

B.4

C.6

D.8

Answer: C

| ° View Text Solution


https://dl.doubtnut.com/l/_ZxELnHDZzPQG
https://dl.doubtnut.com/l/_OKmtYQr88LIX
https://dl.doubtnut.com/l/_c0actUyNpdFu

1 1
2.Ifz + — = 2then the value of 2% + — is
T 3

A2
B.4
C.6

D.12

Answer: A

° View Text Solution

3.I1f z = /49 then the value of x is

A7

C.£7


https://dl.doubtnut.com/l/_c0actUyNpdFu
https://dl.doubtnut.com/l/_D0TMFfCUisOp
https://dl.doubtnut.com/l/_U4LUmbmWaQNJ

D. none of these

Answer: A

° View Text Solution

4, If a+b+c+d+e=0
(a+e)’+ (b+e)’+ (c+e)’+(d+e)isequalto
Ad?+V +2+d*+ €
B.a2 4+ b? + & + d? + 5é?
Ca’+ b+ +d%+ 4

D. none of these

Answer: D

then

° View Text Solution



https://dl.doubtnut.com/l/_U4LUmbmWaQNJ
https://dl.doubtnut.com/l/_VtKkjemMtOgv

3 3
5.Ifz + pl Y+ E such that z # y then

Az =3y
B.y =3z
Cxyy =3

D.zy =9

Answer: C

o View Text Solution

6.1f b +ac = > — ab and b+ ¢ # 0then

Aat+b=c
B.a+c=1b
Ca—-b=c

D. none of these


https://dl.doubtnut.com/l/_dBPyWGqQMiYV
https://dl.doubtnut.com/l/_nqTXfa8wS3yG

Answer: A

° View Text Solution

1
7.1f 22> + — = 83 then the valueof z — — is
x2 x

A3

B.9

D.6

Answer: B

° View Text Solution

1
8.If x + = — 1 then value of 22 is

Al


https://dl.doubtnut.com/l/_nqTXfa8wS3yG
https://dl.doubtnut.com/l/_kNnottZBY1Yf
https://dl.doubtnut.com/l/_CzTPQGGKokMq

Answer: B

o View Text Solution

1
9.If z + = — — 1then the value of 2° is

Al
B.—1

C.2

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_CzTPQGGKokMq
https://dl.doubtnut.com/l/_MyWfvdvf7OTT
https://dl.doubtnut.com/l/_tL8uaEoADSdV

1 1
10.1f 22 + — = 227 thenvalueof z — — is
x? x

A. 15
B.17
C. 25

D.5

Answer: A

° View Text Solution

1 1
M.Ifz3> — — = 140 then value of z* + — is
23 24

A. 729
B.727
C.784

D. 676


https://dl.doubtnut.com/l/_tL8uaEoADSdV
https://dl.doubtnut.com/l/_pUBKVbWyUYNU

Answer: B

° View Text Solution

12.1f  +y = 5 and zy = 7 then value of > + 3% is

A 21
B. 25
C.20

D. 27

Answer: C

° View Text Solution

1B.Ifz +y =7 and zy = 6 then value of 2% + y? is

A.37


https://dl.doubtnut.com/l/_pUBKVbWyUYNU
https://dl.doubtnut.com/l/_SmaZ9j3cQnkZ
https://dl.doubtnut.com/l/_GMDZP9iEBBnQ

B.36

C.—36
D.—37
Answer: A

° View Text Solution

a? b2 c?
14.1fa + b+ c = 0thenvalueof — + — + —is
be ac ab

A.O

B. abc

D.3

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_GMDZP9iEBBnQ
https://dl.doubtnut.com/l/_ur7WpmySpjB2
https://dl.doubtnut.com/l/_8oVwybEdvAAI

15.1fF 2 /3 + y/3 4 21/3 = O then value of (z + y + 2)° is

A.O
B. 3xyz
C.z+ y3 + 23

D. 27 xyz

Answer: D

° View Text Solution

16. If 2> +9y>+ 2> =3zyzand z +y+ 2#0 then which of the

following is correct ?


https://dl.doubtnut.com/l/_8oVwybEdvAAI
https://dl.doubtnut.com/l/_aDOYz0PWRiMB

Answer: B

° View Text Solution

17.0f 2% + y* + 2% = 2y + yz + 2z, where x, y and z are real numbers,
then which of the following is correct ?

Az+y+2=0

Br=y=z2

Cxty=2=z2

D. none of these

Answer: B

° View Text Solution

18. Which of the following is a polynomial ?


https://dl.doubtnut.com/l/_aDOYz0PWRiMB
https://dl.doubtnut.com/l/_iPHkqX7Kf55q
https://dl.doubtnut.com/l/_n8TGgbcnSj8b

Azl +22+3
B.z2 + 2z + 2sinz
C.both Aand B

D. none of these

Answer: A

° View Text Solution

19. Degree of the zero polynomial is

A.O

B.1

C. any real number

D. not defined

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_n8TGgbcnSj8b
https://dl.doubtnut.com/l/_zFwFdFiRK0cm

20. let P(z) = apz" +ajz" ' + ...+ a,(n € N). Then degree of

polynomial is (a, # 0)

B.1
C. not defined

D. either n or less than n

Answer: D

o View Text Solution

21. Let P (x) and Q (x) be two polynomials of degree 5, then degree of P (x)

+Q(x)si

A. always 5

B. always 10


https://dl.doubtnut.com/l/_zFwFdFiRK0cm
https://dl.doubtnut.com/l/_DBCGcRWCVEED
https://dl.doubtnut.com/l/_2cuzhBpuJpWP

C. may be less than 5

D. may be greater than 5

Answer: C

o View Text Solution

22.(z + y) (mz + 9% — xy) (w2 +y? + my) (z — y) is equal to

A 2? +y3
B. 2 —y3
C.z® +y6

D. z° —y6

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_2cuzhBpuJpWP
https://dl.doubtnut.com/l/_Nz67RbwS6dl1

1 1 9 1.
23.{a— —){la+ — ||a"+ — ] isequal to
a a a’

Answer: D

° View Text Solution

24.P(z) =1— % and Q(z) = z* + 2? + x then P(z) x Q(z) is

3 ].

A x +—3
x

1

B.m?’——
3
czl—1


https://dl.doubtnut.com/l/_XKq1FD0KSeNN
https://dl.doubtnut.com/l/_ZoOL5z8omXJ1

Answer: C

° View Text Solution

25. (2¢ +9)° — (z + 29)° + 32z + v)(z + 2y)* — 3(z + v)*(z + 2y)

is equal to
A 8(z —y)°
B. (¢ —y)’
C 8)y — x)
D.(y — z)°
Answer: B

° View Text Solution

26.1f P = /3 then value of P* — 6P% + 10is


https://dl.doubtnut.com/l/_ZoOL5z8omXJ1
https://dl.doubtnut.com/l/_GR2gt9mkfjRk
https://dl.doubtnut.com/l/_xio70i08JGsO

A.O

B.1

C.2

Answer: B

o View Text Solution

27.1fz = 3 and y = /3 then value of 22 +yt + 2z’ is

A. 32
B.33
C.34

D. 36

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_xio70i08JGsO
https://dl.doubtnut.com/l/_16ToS1i5jOi4

28.1f x = 3 + /2 then value of

z* — 122% + 5022 — 84z + 49 is

A.O

B.2

D.2

Answer: A

° View Text Solution

29. The remainder when z* —4a? 4222 +4z+1 is dividing by

(m—l—\/ﬁ)is

Al

B.2


https://dl.doubtnut.com/l/_16ToS1i5jOi4
https://dl.doubtnut.com/l/_Uxt0gKu2xRLx
https://dl.doubtnut.com/l/_hcN5B1UJa8Po

C.o

Answer: C

o View Text Solution

30. Which of the following is not a factor of
(mz —4m+3)(m3+2) — (mz —4:13+3)?
A (z —3)
B.(z + 1)
C. ( 2z 4+ 1)

D.(a:2+:1:+1)

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_hcN5B1UJa8Po
https://dl.doubtnut.com/l/_rOm4XmIYT0Tf
https://dl.doubtnut.com/l/_wCOfjYFL5ipN

31. The square root of z* — 2% + 1

Az +1)(z—1)
B.(z + 1)(z — 2)
cz’+1

D. none of these

Answer: A

° View Text Solution

32. The square root of z* + 823 + 2222 + 24z + 9is

Ax?+4z +7
B.z?> — 4z + 3
Cz?—dz+7

D.z2 + 4z + 3


https://dl.doubtnut.com/l/_wCOfjYFL5ipN
https://dl.doubtnut.com/l/_Iej1HtM4c2Vw

Answer: D

° View Text Solution

33. Which of the following is ot a factor of a? + b* — 2b — 8 ?

Aa—b+ 22
B.a —b— 22
Ca+b—22

D. none of these

Answer: C

° View Text Solution

34.The HCF of z° + 32 and z2 + 4z + 4is

A (z +2)


https://dl.doubtnut.com/l/_Iej1HtM4c2Vw
https://dl.doubtnut.com/l/_z5MDsvVpeVle
https://dl.doubtnut.com/l/_OeS52H3SutCs

B.(z + 2)°
C.(zx+4)

D. none of these

Answer: A

° View Text Solution

35.LCM of (z + 1), (z® —z + 1) and (z — 1)(2* + z1) is

A.:c6—|—1
B.z0 — 1
czl—-1

D.x3+1

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_OeS52H3SutCs
https://dl.doubtnut.com/l/_NomFRbOjtxor
https://dl.doubtnut.com/l/_sSsT6t6AdmbD

3
36.LCM of ;a2b and Eabz is

Answer: C

o View Text Solution

37.1f polynomial 2> + ax + b leaves remainders 2 and 3 when divided by

(z — 1) and (z — 2), respectively, then polynomial is

A.x2+3a:—2
B.z2 — 2z + 3
Cz2+2r—3

D.z2 — 3z + 2


https://dl.doubtnut.com/l/_sSsT6t6AdmbD
https://dl.doubtnut.com/l/_yzIp4OFw282H

Answer: B

° View Text Solution

38. Which of the following is a factor of 1 + & + 2> + 2® ?

Ax—1
B.z2 — 1
C.x2+1

D. none of these

Answer: C

° View Text Solution

3. If a+b+c=7and ab+ bc+ ca =16 then the value of

a® + b+ — 3abcis


https://dl.doubtnut.com/l/_yzIp4OFw282H
https://dl.doubtnut.com/l/_9OWORun89xwp
https://dl.doubtnut.com/l/_uX4laAjwBiKy

A7

B.16

c.1/2

D. 23

Answer: A

o Watch Video Solution

40. If area of a rectangle is 2z% + 13z + 15 then measure of its side can

be

A2z + 3
B.x +5
C.both Aand B

D. none of these

Answer: C



https://dl.doubtnut.com/l/_uX4laAjwBiKy
https://dl.doubtnut.com/l/_zY3u9WprSJBM

| ° View Text Solution

Olympiad And Ntse Level Exercises

1

1
1. Find the value of fin — = ” + p wen u =15 and v =10.

Answer: C

o View Text Solution

2.Factorize a> — (b — ¢)*.

A(a+b—c)(a—b+c)


https://dl.doubtnut.com/l/_zY3u9WprSJBM
https://dl.doubtnut.com/l/_kQC4Fnfa1Zsw
https://dl.doubtnut.com/l/_gt8j1L1TdChV

B.(a—b—c)(a—b+c¢)
Ca—b—c)la—b—rc)

D.(a+b—c)(a—b+c)

Answer: A

° Watch Video Solution

3. Simplify @’ — 3
. Simplify ——
P 9r2 — x4
1
Tz +3

A.

B. —

z+3
1
3z + 3

1
"3r —3

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_gt8j1L1TdChV
https://dl.doubtnut.com/l/_55h4L7fWMSCY
https://dl.doubtnut.com/l/_XNGj8Gq29T6p

4.Find the HCF of 2° + (a — b)z — ab, > — 2bz + b*, and z* — b°.
Az —b
B.z? — b
C.(z +b)°

D. (c — b)’

Answer: A

o View Text Solution

2 2

5. Write

in the simplest form
a? — 3ab + 2b2 P

(a + b)?
" (a — 2b)
a+b
a—2b
(a —b)
" (a — 2b)
(a+0)
" (a + 2b)

B.


https://dl.doubtnut.com/l/_XNGj8Gq29T6p
https://dl.doubtnut.com/l/_NAHaBWxnDEAa

Answer: B

o Watch Video Solution

6. Study the given statements.

a
Statement I: + — =
zTt+a T—a g2 qg? z?2 — a?

Statement

3abe — ad — b3 — &S — %(a+b+c)[(a—b)2+(b—c)2—|—(c—a)2]

Which of the following options holds ?

A. Both Statement | and Statement Il are true.
B. Statement | is true and Statement Il is false.
C. Statement | is false false and Statement Il is true.

D. Both Statement | and Statement Il are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NAHaBWxnDEAa
https://dl.doubtnut.com/l/_USWtzcRohIJF
https://dl.doubtnut.com/l/_EzczzIWBRFvM

7. Match

(L)

[(R)

(8]

P
v
P
13
P
i

P

13

Answer:

the following

IFx + 1B+ |08x + 341 =0 then x =

IFm = =19 and n =23 then the
vitlue of 25" + 40mn + | 6o’ in

I .
Ifx+—==3, then x 1--|-re
L}

Wa+y=3and xyv=0, then x* + ¢

Q R S
Q R S
w1 111
Q R S
w i i
Q R S

w1 i

m;‘r
(il | =11

(i) | 27

R —

. {iv) .‘.l

° Watch Video Solution

8. State T for and F for false.

(i)a® — b = (a —b)*ifab=0
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(i) (x—i—l) —(x—l) =2
T T

(iii) The remainder when 15> — 26z + 8 is divided by3x —4is 1.
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Answer: D

o Watch Video Solution

9.Fill in the blanks.
(i) When P (x) is divided by P the remainder is P (a).
(i)if P(a)=0,then __ Q is a factor of P (x).

(i) f p (-2) =0, then __R__is a factor of P (x).

pP Q R
A (z—a) (zx—a) (z+a)
BP Q R


https://dl.doubtnut.com/l/_bvp6G8h2kcU7
https://dl.doubtnut.com/l/_6jKGVpDaU4Lf

P Q R

P Q R

Answer: B

o Watch Video Solution

0z —2(t+ L) andy—3(t— L), then & — L
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Answer: C

° Watch Video Solution
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